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QUESTION NO: 1

Which command on a NetApp storage controller will display the average latency time on a per LUN basis every five 
seconds?

A. sysstat -i 5

B. sysstat -f 5

C. fcp stats -i 5

D. lun stats -i 5

ANSWER: D 

QUESTION NO: 2

A company wants the most scalable host-side connection topology for E-Series systems.

In this scenario, which FC topology would satisfy the requirement?

A. direct connect

B. fabric attach

C. private loop

D. arbitrated loop

ANSWER: B 

QUESTION NO: 3

Which two errors would fail a pre-upgrade health check? (Choose two.)

A. Hot spares are in use

B. Volumes are reported on a non-preferred path

C. An excess number of event log events are present

D. I/O is being processed

ANSWER: A C 
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QUESTION NO: 4

An administrator is asked to create an asynchronous mirroring environment that supports multiple mirroring relationships, 
each with different recovery point objectives (RPOs).

In this scenario, how does the administrator create this environment?

A. The administrator creates a mirror group with the appropriate RPOs

B. The administrator creates multiple mirror pairs, each with their own schedule and RPO

C. The administrator creates a single consistency group with multiple RPOs

D. The administrator creates multiple mirror consistency groups with the appropriate RPOs

ANSWER: A 

QUESTION NO: 5

What are two base host connectivity selections that are provided by the E2800 controller? (Choose two.)

A. FC

B. SAS

C. IB

D. iSCSI

ANSWER: A D 

QUESTION NO: 6

Click the Exhibit button.
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Referring to the exhibit, what is the total number of ALUA paths from the host to a volume on the EF280?

A. 8

B. 6

C. 2

D. 4

ANSWER: D 

QUESTION NO: 7

Click the Exhibit button.
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An administrator is asked to create a 5532 GiB volume from the volume group.

Referring to the exhibit, how would the administrator complete this request?

A. Create the volume after performing space reclamation

B. Create the volume after consolidating the capacity

C. Create the volume from the available capacity

D. Create the volume after adjusting the preservation capacity

ANSWER: B 

QUESTION NO: 8

Which two steps are required to enable multifactor authentication on an E-Series system? (Choose two.)

A. Test SSO login

B. Configure In-Band Management

C. Map roles

D. Configure LDAP

ANSWER: A D 

QUESTION NO: 9

Click the Exhibit button.
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Referring to the exhibit, which three statements are true? (Choose three.)

A. There are two SAS expansion ports available

B. There are six SAS host ports available

C. There are two Base-T iSCSI ports available

D. There are two FC/iSCSI host ports available

E. There are four SAS host ports available

ANSWER: B C D 

QUESTION NO: 10

Which two actions must be performed to enable iSCSI multipathing on Windows for NetApp E-Series systems? (Choose 
two.)

A. Set up iSCSI IP addresses on the E-Series system and the Windows host

B. Install the Host Utilities on the Windows host

C. Create two VSANs on the iSCSI switches

D. Install a Host Channel Adapter (HCA) on the Windows host

ANSWER: A B 
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